PreCalculus ACC ’19-20 Name: 50L~JTL D) Ki‘j
Chapter 10 Test — Form A
CALCULATOR ALLOWED Score

Round to 3 decimal places. Show all work.

Find the derivative of each of the following functions.
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2. Find domain and x — intercepts of y=(x+1)v9—x*.
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3 Find the extreme points of y=(x+1)v9—x>. Show the algebraic work to
support the critical values.
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4. Find domain and x — intercepts of y= (x2 —3x— 10)3’556_
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5. Find the extreme points of y=(x*-3x— 10)e‘§x. Show the algebraic work to

support the critical values.
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6. Find domain, VAs, and x — intercepts of f(x)= 11?364 —13x% + 36) on
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7. Find the extreme points of f(x)= ln(x4 1% 36) on xe[—4,5]. Show

the algebraic work to support the critical values.
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8.  Find the traits and sketch y=(x+1)v9—x?.

Domain: % € E—%(g] Range: (3 & [- 2. {Z,_;\) (o~7331
x — intercepts: ( -1 sy (+ 3.0 ) y— intercept(u : 9 )

Extreme Points: 5'2:{/ L 5

End Behavior (Left): AJo~/& End Behavior (Right): A2on/E
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9.  Find the traits and sketch of y=(x2—3x—10)¢™".

Domain: AL Paacs Range: Iy .-l

x — intercepts: y — intercept: @ e 'D\
Extreme Points: <ss 4 §

End Behavior (Left): U / End Behavior (Right): ﬂ =




10.  Find the traits and sketch of f(x)= ln(x4 —~13x*+ 36) on xe[—4,5]

Domain: > 2t #6 ARG 5 Cé’oui 5_‘8):}’]
vAs: X=2¢ +£3 y — intercept: (Dl B ,5—«31’1)

Extreme Points: Szz &

End Behavior (Left): roens End Behavior (Right): ~NovE
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